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B f(z,y) = 2 — 122y + 5y* — 3z DIREZ IR DFHINZ L7z TRD &,

folw,y) = 32% =12y =3, fy(z,y) = —12z + 10y

(2) folz,y) =0, f,(x,y) = 0 Z AR 2T 2,y KD &,
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(3> fm(l’ay)afyy@W)yfzy(l‘,y) fd_";k&bi
fmm(I’y) = 6, fyy(x7y> = 10, fﬂcy =—12

(4> A('x’y> = fm(l',y)fyy(m,y) - (fa:y(x,y))2 %Z’Q&béo
A(z,y) = 60z — (—12)? = 60x — 144

(5) A(z,y) & foolx,y) Z > THAEDHIE,
A(5,6) = 300 — 144 = 156 = D THETH %
FFIZ fr0(5,6) = 30 > 0 7D THli/)N
A(—1,—2) = =12 — 144 = —156 72 D THMETIZ AW

UEDZtzfeddk

(5,6) D& E f(5,6) =125 — 360 + 180 — 15 = —70 THUNMEZ HL 5,
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BB f(x,y) = 2* + 3uy® — 9wy DMEEAE RO L7 hi> Tohed &,

(1) folz,y), fy(z,y) Z2RD D,
(2) foz,y) =0, f,(z,y) = 0 Z A2 T 2,y KD B,
(3) foa(z,y), fyy(3j Y), fmy@ Y) ZRD D,

(4) A(x,y) = fue(@,9) fry(2,y) — (fay(2,9))* ZRD B,
(5) Az, y) & feolw,y) &> THRALDHIRE,
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